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Sl. No.1
QBID:1163001

From among the four options given, chose the pair of phrases that will be the most suitable to
complete the following and make a meaningful sentence:

When the police offered him a lighter punishment if he gave them the names of his
accomplices, the robber decided to and

(1) bite the bullet; break a leg

(2) call it a day; go back to the drawing board

(3) it’s the best thing since sliced bread; sit on the fence

(4) spill the beans; call it a day

(1) 1
(2) 2
(3) 3
(4) 4

fr=fefian § @ “Hwam aegey B9 #1 IEE EE @ 27

(1) =M W = (2) W2 & HW
(3) @9 & 9 (4) % % fore zfgon

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=49301]
2[Option ID=49302]

3[Option ID=49303]
4[Option ID=49304]

SlI. No.2
QBID:1163002

From among the four options given, choose the one word substitute for the phrase ‘occuring
once every two years’'

(1) Biannual (2) Annual
(3) Monthly (4) Biennial
(1) 1
(2) 2

(3) 3




(4) 4

‘frfer’ W TR 2 -

(1)  =wdumE @ fm
(3) e (4) =it

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49305]
2[Option ID=49306]

3[Option ID=49307]
4[Option ID=49308]

Sl. No.3
QBID:1163003

Choose the option which is closest to the meaning of the word.

Archetypal

(1) Convival (2) Sanctimonious
(3) Quintersential (4) Ubiquitous

(1) 1
(2) 2
(3) 3
(4) 4

Freferfiga & & “aqv’ =1 wafarh 5 21

(1) TRTEA (2) =M
(3  w= (1) foams

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49309]
2[Option ID=49310]

3[Option ID=49311]
4[Option ID=49312]

Sl. No.4
QBID:1163004

Find out the correct meaning of the following idiom:
To have sticky fingers

(1) A propensity to steal (2) Toeatalot
(3) Taking bribe {4) Being miser




(1) 1
(2) 2
(3) 3
(4) 4

Frerferfiam 1 & g 77 = W 27

(1)
(2
(3
(4

fom = =1 vk w@= $ w=n g o, 356 sfie =i @ 2
=R 8w we A w2 o, snfe e @ R

= fow! v W £ w7 o, s 3eh adfe S @ o)
form =R =1 v & i w90 g A, A9 sfe wiwa @

(1)
(2)
(3)
(4)

A W N =

1[Option ID=49313]
2[Option ID=49314]
3[Option ID=49315]
4[Option ID=49316]

Sl. No.5
QBID:1163005

From among the four options given, choose the one word substitute for the phrase ‘lean and

haggard’

(1) Gaunt
(3) Overweight

1) 1
(2) 2
3) 3
(4) 4

‘g TR H o R -
(1)  =durE
(3 =

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=49317]
2[Option ID=49318]

3[Option ID=49319]
4[Option ID=49320]

(2) Strong
(4) Athletic

2 fm

4) ==

Sl. No.6
QBID:1163006




Choose the correct order of the paragraph to create a meaning out of PQRS set:

Contemporary imperialism is,

(P)
()
R)
(S)

(1)
(3)
(1) 1
(2) 2
(3) 3
(4) 4

but also through the attempt to control hearts and minds.
taken to a higher level than ever before-through fire and sword,
exercising to a maximum degree a rationalized violence

in a real sense, a hegemonic imperialism.

PQRS (2) SRQP
RSPQ (4) QRSP

Fr=ferfaa armi %1 wagan safeya $ifau)

(A)
(B)
(C)
(D)
(E)

ECIEIRES)
frmm

i

itz

FEA AfUF wHg 7

Fr= fre M el § 4w I o v s

(1)
(2)
(3
(4

(1) 1
(2) 2
(3) 3
(4) 4

(A). (B). (C), (D), (E)
(D). (C). (E), (B), (A)
(C), (D). (A), (E), (B)
(B), (C). (D), (E), (A)

1[Option ID=49321]
2[Option ID=49322]
3[Option ID=49323]
4[Option ID=49324]

Sl. No.7

QBID:1163007




Identify the correct indirect speech form of the following sentence:

“Please give me the lecture notes I need,” he said.

(1) He requested to give me the lecture notes.

(2) He said to give me the lecture notes.

(3) He requested that I gave him the lecture notes.
(1) He asked for the lecture notes.

(1) 1
(2) 2

3) 3

(4) 4

fFrefarfiaa ame =1 3fm sagan =afm fifa)
(A) =yl ez A

(B)  wue w1

(C) fFm o

(D) Hiea™

(E) wiff= =

= fon m g O 8w I o =39m ifso .

(1) (B, (A), (D). (E), (C)
(2) (A, (D), (E), (C), (B)
(3) (D), (E), (C), (B), (A)
4)  (C), (D). (E), (A), (B)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49325]
2[Option ID=49326]

3[Option ID=49327]
4[Option ID=49328]

Sl. No.8
QBID:1163008

Find out which part of the sentence has an error, if there is no error, mark option 4.
(1) urbanization, industrialization and transport development
(2) with the rise of the standard for living of the people

(3) there has been a rapid increase in the demand for electricity

(4) no error

(1) 1




(2) 2
(3) 3
(4) 4

Freferfian gt =1 @t w1 =)
‘s < fa : e H AR

() =3 =afFa F: 53m

(2) 7= =fFa & T warf 54
(3) s faarn

(9 7= =fEa % 5y w49 W @

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=49329]
2[Option ID=49330]

3[Option ID=49331]
4[Option ID=49332]

Sl. No.9
QBID:1163009
Match List I with List I :
List I List I1
(Foreign Phrases in English) (Meaning)
(A) Status quo (I)  Way of doing things
(B) Corpus delieti (II) Current state of affairs
(C) Modus operandi (IIT) What will be, will be
(D) Que sera sera (IV) Evidence of a crime

Choose the correct answer from the options given below :

(1)  (A)-(IV), (B)-(), (C)-(ID), (D)-(D)
(2)  (A)-(ID), (B)-(AV), (C)-(I), (D)-(I1L)
3 (A)-(D), (B)-(I1I), (C)-(IV), (D)-(ID)
(4)  (A)-(ID), (B)-(III), (C)-(D), (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4




Freafefiaa s =1 sagar sgafeam fifs)

(&) 3pE B fm

(B) #9999 W

(C)  wiren fEm

D) Fmw

(E) 3

Hr fom T ferrei @ @ W@ 3w =9m i

(1) (AL (B), (C), (D), (E)
(2) (D), (C), (E), (B), (A)
(3)  (B), (C), (D), (E), (A)
(4)  (C), (D), (E), (A), (B)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49333]
2[Option ID=49334]

3[Option ID=49335]
4[Option ID=49336]

Sl. No.10
QBID:1163010

From among the four options given, choose the correct sequence of the four phrases given
below, to make a meaningful sentence:

A February 21, 2022
B. the world witnessed
C. a rare and somewhat
D. unexpected sight on
(1) D ABC (2) B,C,D A
(3) C.DDAB (4) A.B,CD
(1) 1
(2) 2
(3) 3
(4) 4
Frafofiaa 4 & %9 @ o= 715 27
(1) =l (2) wateEh
(3) = (4) i
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=49337]
2[Option ID=49338]
3[Option ID=49339]
4[Option ID=49340]

Sl. No.11

QBID:1163011

Choose the correctly spelt word from the following:

(1) malvolence
(3) malevolence

(1) 1

(2) 2

(3) 3

(4) 4
frfoafiaa § wg 9= 2 -
(A) I8 U9 g9 399 2|
(B) &« @ 39T M F|
(C)  # v Hg1 F=a B
(D)  HH 35H T A1 SR FA 2@
(E) 9% 539 w4+ 37147 91

= few v fasedt € ° @€ 3T 1 9= fifau

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

%49e (A), (B), (C)
=9 (B), (C), (D)
*ad (A), (D), (E)
4 (A), (B), (E)

1[Option ID=49341]
2[Option ID=49342]
3[Option ID=49343]
4[Option ID=49344]

(2) maleviolence

(4) malvolense

Sl. No.12

QBID:1163012




From among the four options given, choose the grammatically correct sentence:

(1) Four key stakeholder are integral to the supply for foodgrains in the country

(2) Four key stakeholders are integral to the supply for foodgrains in the country

(3) Four key stakeholders is integral to the supply for foodgrains in the country

(1) Fourth keying stakeholders are integral to the supply for foodgrains in the country

(1) 1
(2) 2
(3) 3
(4) 4
TE1-1 % @1y g=-11 &1 e $ifaw
il g1
(A) W F WU g 1) feraeedi
(B) =9 @M dTel (I e
(C) waef &1 a8 == et (I11) fommer
(D) =9 @H F Tl (IV) wi-neft

= few v fasedt € ° 9E 3T % 9= fifau

(1) A)-D), (B)-aD), (C)-(I), (D)-(IV)
(2)  A)-D), (B)-dID), (C)-aV), (D)-(D
(3)  (A)-(ID), B)-AV), (C)-(I), (D)-(ID)
4  (AQ)-(IV), B)-(), (C)-(IID), (D)-(ID

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=49345]
2[Option ID=49346]

3[Option ID=49347]
4[Option ID=49348]

Sl. No.13
QBID:1163013

From among the four options given, choose the pair of words that are synonymous

(1) conversion — contraversy (2) envisage — face
(3) defer — postpone (4) strong — sluggish
(1) 1
(2) 2

(3) 3




(4) 4

TE1-1 % @1y g=-11 &1 e $ifaw
-1 g-11
(A SEi@@w@a 1) wgataa
(B) @G # faemn gan 3m (II) =&y
(C) e | &4 e (I1I) wféea

(D) forehl =iga sifoes == @ (IV) wawd

= feu v fawedt § ° 9E 3T 1 9= fifau

(L) Q)-D), B)-ID, (O)-(ID), (D)-(IV)
2)  (A)-aD, (B)-dII), (C)-(IV), D)-(D)
(3)  (Q)-ID), B)-AV), (C)-(D), (D)-1I)
4)  (A)-AV), B)-D), (O)-(II), (D)-(T)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=49349]
2[Option ID=49350]

3[Option ID=49351]
4[Option ID=49352]

Sl. No.14
QBID:1163014

From among the four options given, choose the pair of phrases that will be the most suitable
to complete the following and make a meaningful sentence:

Although the two friends did not on many things when they were younger, they
were able to as they matured and their friendship lasted for many years.
(1) hit the nail on the head: bite the bullet
(2) see eye to eye; let bygones be bygones
(3) see eye to eye; call it a day
(4) break a leg; let bygones be bygones
(1) 1
(2) 2
(3) 3
(4) 4




@ Fel, Fei-Fel °1 e @l

TorEea =1 3= = w1l

ITGFd Uil § TR 8 -

(1) g (2) 3cTen
(3)  Fum (4) &H%
(1) 1

(2) 2
(3) 3
(4) 4

1[Option ID=49353]
2[Option ID=49354]
3[Option ID=49355]
4[Option ID=49356]

Sl. No.15
QBID:1163015

Find out which part of the sentence has an error, if there is no error, mark option 4.

(1) Western feminist discourse and political practice
(2) is neither singular nor homogeneous in
(3) its goals, interests or analyses

(4) No error

(1) 1
(2) 2
(3) 3
(4) 4

= d & 3 % 3T 9 %1 =Ea Fifu)
(A)
(B)
(©)
(D)
(E)

of g & g a

Hr= fou o fasredt # & @d I 1 =9 Fife
(1) (B), (D), (E), (A)
(2) (D), (E), (B), (C)
3 (B (C), D), &)
4) (AL (O, (B), D)




(1)
(2)
(3)
(4)

A W N =

1[Option ID=49357]
2[Option ID=49358]
3[Option ID=49359]
4[Option ID=49360]

Sl. No.16
QBID:1163016

From among the four options given, choose the correct sequence of the four phrases given
below, to make a meaningful sentence:

A of the semester is that
B. the very first thing I
. they will need to read a lot of books for this course
D. tell my students on the first day
(1) C.A DB (2) B.D,AC
(3) ABCD 4 D,CBA
(1) 1
(2) 2
(3) 3
(4) 4

i 31 %o g U § : UF AfEE (Assertion (A)) F &9 # foiRga & a1 g80 39+ FW (Reason (R))
ERE

TR (A) - T 541 o YA H IS 1 Hied dedl 2| $9E 9T H HEadr i S A 2
FA (R) : AT & WAFT ° W9 WE, 9 3R gat 8 S 21 Afg wEam veg 9 gl 59
FH-FT AT AT 95dT 2

ITE FH o A 4, 94 fGu v faweul @ ° 999 30w I H 994 it

(1) (A (R) 2H &8t E 30 (R), (A) i =& =amen 2
(2) (M) 3R (R) 3 w2, A (R), (A) F 7 =en @ 2
(3) (A TE R, ¥ (R) wdl 7@ 2
@) (A= R, wfE R) T 2
(1) 1
(2) 2

(3) 3
(4) 4




1[Option ID=49361]
2[Option ID=49362]
3[Option ID=49363]
4[Option ID=49364]

Sl. No.17
QBID:1163017

From among the four options given, choose the one word substitute for the phrase ‘a practice
or trial performance of a play or any other artistic work for public performance later’
(1) Matinee (2) Rehearsal
(3) Trailer (4) Interval
(1) 1
(2) 2
(3) 3
4) 4

= 31 %o fau U € : v AfFEE (Assertion (A)) % w9 § fafiga @ a1 g90 39 FWW (Reason (R))
%Wﬁ:

T (A) o w5 & ®9 ° fomm, o= 1 I & FA0 f9ER A9E 9fiEdq 6l oW, J 558
5%, Feamd &

= (R) o foerTll wiee ST O3 91 AW % G919 AR 3T 99Y 999 F H Ted) o 919 T
A 8, 3¢ Geiaras ®el Al 2|

I FI4 & A °, 9 2w 1 Heew § 9 9@ 3w %1 9= fifu

(1) (A) R (R)aH &3 8 31 (R), (A) Fi &t =awen 2

(2) (A 3R (R) FH Twea F, df (R), (A) =i wl =amen 76 8
(3) (AT 2, @ (R) 3553 2

(1) (A)¥ET 2, wfeT (R)aca 2

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=49365]
2[Option ID=49366]

3[Option ID=49367]
4[Option ID=49368]

Sl. No.18
QBID:1163018




From among the four options given, choose the most appropriate idiom that can be used to fill
in the blank in the following sentence:

The dress she wanted was not available in her size and this turned out to be as
the one she finally bought was much nicer.

(1) on the ball (2) the last straw

(3) better late than never (4) a blessing in disguise

(1) 1
(2) 2
(3) 3
(4) 4

= 31 Fo fq T E

FYA [ HEreH Tt 1 9 Sia--23E g9-arae o1 foen om R S 9iee a2 98 akga: 9 2

FoA 11 Togadl Sfieq & 9 999 & 5o s==i & 9 ==en 991 A=A & S91 =9 J91 €9 g =
el 2|

ITE FH * Al 4, i {u v fomwedi 4 | 999 399 39 & =99 Hif

(1) = I3 11241 a8l 2
(2)  @wyE 1 3R 11 gH1 7Teid &
(3) = [T 2, ok %99 11 7e 2
(4) = I 7eq 2, ifed e 11 a8 2

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=49369]
2[Option ID=49370]

3[Option ID=49371]
4[Option ID=49372]

Sl. No.19
QBID:1163019




From among the four options given, choose the correct sequence of the four phrases given
below, to make a meaningful sentence:

A depending upon what vou do there
B. or detrimental for yvour mental health
C. the Internet can be helpful
D. spending chunks of your day on
(1) N, C. B A (2] B.ADC
(3) A,B,CD 4 C,D,AB
(1) 1
(2) 2
(3) 3
(4) 4
i< g1 %y fgg e B

FOL:  HEE % TIE H 9N S A SR R €9 i S @ a9 # At ot sifaes gerese g
Einie]

F 01 :  Heme o 0o WEY FI 95oH1 G99 a1 8 #iish Sl @i T T8l Hell 2l 2l
IFIF FI9 F Al °, 4= B fHGwew § 9 98 393 1 95 il

(1) FWIARIIgHIaFE

(2) FuF 153 2, Ak 794 11 3599 2
(3) = I3 11 241 35 &

(4) w1 AEFE, Al w1 T3 2
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49373]
2[Option ID=49374]
3[Option ID=49375]
4[Option ID=49376]

Sl. No.20
QBID:1163020

From among the four options, choose the word that is similar in meaning to ‘abbreviate’

(1) Shorten (2) Translate
(3) Edit (4) Lengthen

(1) 1




(2) 2
(3) 3
(4) 4

= 21 %o fgu T § -

FEL: U8 WA H 99 § fus 9ggm s @1 faufFa e 9 om g 2
F 11 :  Fs R faufad gl & wgam & fomr ot 98 = 999 2

ITIH FIH F A °, 4 By FFew 9 9 98 3w w1 95 il

(1) &= [ 30 11 341 99 8

(2) FF 1 AR 1 3Hl 39 §

(3)  FA 1T 2, o Fu4 1] 91897 2
(4)  wH [ AEF 8, oifd o 1899 2
(1)
(2)

(3)
(4)

A W N =

1[Option ID=49377]
2[Option ID=49378]
3[Option ID=49379]
4[Option ID=49380]

Sl. No.21
QBID:1163021

From among the four options, choose the one word substitute for the phrase ® a person who
speaks more than one language’

(1) Polygamist (2) Polygon
(3) Polvglot (4) Polytheist

(1) 1
(2) 2
(3) 3
(4) 4

B g - Fie el
T iE S Wl - § AEER R -

(1) =5+ (2) 3edam
(3)  3uml (4) *9=
(1) 1
(2) 2

(3) 3




(4) 4

1[Option ID=49381]
2[Option ID=49382]
3[Option ID=49383]
4[Option ID=49384]

Sl. No.22
QBID:1163022

From among the four options given, choose the idiom that will be the most suitable to
complete the following and make a meaningful sentence:

When the exams were approaching, the teacher told the students, “I have completed the
syllabus and now g

(1) the ball is in your court (2) it's time to go back to the drawing board

(3) it’s time to hit the sack (4) vyour guess is as good as mine

(1) 1
(2) 2

(3) 3

(4) 4

‘FgEd & =g H Hefaigd a2 Hed & -

(A) FgEd, F9H § =Had S99 91 fa=m w1 atda fEre )
(B)  &gEd %1 Y46 U: A-AfF 1 A9qa el & oy gian 2|
(C) =EEd %1 @=ed AuiEda &l 2l

(D) aldd hel 4 HadlEid 440 2d)

(E)  eEd &1 Tad T1n 98 g

fr feu o faseai § 9 9 I #1999 i
(1) %= (A), (B), (D)
(2) a9 (A), (B), (E)
(3) %= (A), (B), (C)
(4) =& (B), (), (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49385]
2[Option ID=49386]

3[Option ID=49387]
4[Option ID=49388]

Sl. No.23
QBID:1163023




Find out which part of the sentence has an error, if there 18 no error, mark option 4.

(1) The roles we associate with women are not

(2) have given to them in birth, by virtue of their biology
(3) but rather are socially constructed

(4) No error

(1) 1
(2) 2
(3) 3
(4) 4

=1 4 ¥ vema g9 Weg HHE 1 =A4 Hita)
(A)  Toa-arfas, 1fim, T

(B) T, Awied, Gars, HiEleh

(C) 31, fama, s, e

(D)  Tigderd, Tiga, AnTieRdr, SEe
(E)  eruifass, wmifes, snfed, Temen

= fou mu fawedi € © @€ 3 1 9= fifau

(1) (C), (B), (A), (E)
(2) (E), (C), (B), (A)
(3 (@A), D), (B). (E)
(4) (D), (E). (C), (A)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49389]

2[Option ID=49390]

3[Option ID=49391]
4[Option ID=49392]

Sl. No.24
QBID:1163024




From among the four options given, choose the one which is a grammatically correct sentence.
(1) Fill in the name and addresses of the person you wish to gifted the subscription from
and ticks the box on top in the page

(2) Filled in the names and address of the person you wishing to gift the subseription to
and ticking the boxes on tops of the page

(3) Fill in the name and address of the person you wish to gift the subscription to and tick
the box on top of the page

(1) Filling in the name and address with the person you wished to gifted the subscription
to and tick the box on top of the page

(1) 1

(2) 2

3) 3

(4) 4

T=1-1 & Ay -1 &1 fae il

-1 H=-11

(A) g O =
(B) =% (1) ===
(C) 3+ (I feama
(D) I9F Iv) =m=

e feu v faedi § @ 9E 3 w1 9= Hifdu

(1) @)D, (B)-(D), (C)-AV), (D)-IID)
(2  A)-D), B)-AV), (C)-(1I), (D)-(1I)
@) (A)-IV), (B)-aD, (C)-(), (D)-(I1T)
4)  (A)-(ID), B)-(D), (C)-(AV), (D)-(1I)

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=49393]
2[Option ID=49394]

3[Option ID=49395]
4[Option ID=49396]

Sl. No.25
QBID:1163025




Choose the correct pair of prepositons, in the correct sequence, from among the four options
given, to fill in the blanks in the following sentence:

When you go the market, remember to bring back some fruit there.
(1) from: to (2) for; with
(3) to; from (4) hy; for
(1) 1
(2) 2
(3) 3
(4) 4
HH1-1 & Ay Fg=-11 =1 faae il .
Heit-1 i-11
(A) SAgFd @) =3 Fad § 309+
(B) s (I1) oo s o =
(C) =4 (A11) o fou =il Tea faa 8
(D) =fieTE (IV) 2 9eii ® F1E FF F T THeiia

= f2u U fawedl 4§ O I = =999 i

(1)  (A)-(V), B)-(), (C)-(ID, (D)-(ID
(2)  (AQ)-aD), (B)-III), (C)-AV), (D)-(D)
(3)  (A)-D, (B)-(ID), (O)-(III), (D)-(IV)
4)  (A)-(aD, (B)-OV), (C)-(II), (D)-(I)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49397]
2[Option ID=49398]

3[Option ID=49399]
4[Option ID=49400]

Sl. No.26
QBID:1163026

From among the four options given, choose the most suitable conclusion to the phrase given
below, in order to make it a meaningful sentence:

The future belongs to those ...

(1) drams who they follow 2)  who follows their dream
(3) who follow their dreams (4) whose dreams they follow
(1) 1

(2) 2




(3) 3

(4) 4
-1 F =19 gAt-11 1 T Fifse -
-1 F-11
(A) i@ F F91 90 FHAgE (I) uftem =1 % 3y fowa 2
(B) To= Zg1 o= ar=at =t ol 92 (AD) T & fasg 9 g
(C) &A@ T4 M F L@ (IIT) =1t 5008 =127 femmn
(D) e aat sFEm (IV) TE g9am

= feu T faedi € °@ 9E 3 % 994 fifvu

(L) A)-D), B)-(AV), (C)-(1I), (D)-(II)
2  (A)-IV), B)-0), (O)-(I), (D)-(11T)
(3) @)D, (B)-(D), (C)-AV), (D)-IID
(1)  (A)-1D), (B)-IID), (C)-IV), (D)-(D)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=49401]
2[Option ID=49402]

3[Option ID=49403]
4[Option ID=49404]

Sl. No.27
QBID:1163027




Beneath the ocean’s surface waits a different world — quiet, full of wonder, shimmering with
life. Carter Viss loved that world. It's why he left Colorado to study marine biology at Palm
Beach Atlantic University. It's why he got a job at the Loggerhead Marinelife Center, just up
Highway 1 on Florida's east coast. And it's why he spent so much free time snorkeling in the

reef system just a couple of hundred meters away from the famous Breakers resort in Palm
Beach.

Thiz particular Thursday morning — 28 November 2019 — was especially nice. It was
Thanksgiving. Tourists and locals alike hit the beaches. The water was flat, the sky blue and
the underwater wviaibility spectacular. Twenty-five yvear old Viss and his 32-year-old co-
worker, Andy Earl, spent a couple of hours among the sharks, eels, turtles, octopus, lionsfish
and angelfish. They netted some small specimens for Viss’s personal collection. Finally,
around moon, they headed for shore.

To a diver underwater, outboard engines have a clear, unmistakahle sound. On the surface,
however, swimming the crawl, Viss didn’t hear the powerboat until it was almost on top of
him. When he saw it, he knew he had just an instant. He pulled desperately to one side,
getting his head and upper torso out of the boat’s path before it ran him over.

frafafaa T & fiw e vt & 98 fawen i gfw -

TUEE IEqa: Si9d F 9AE 21 3fE Feed F 8, 9 e uE: A 1 fAfees wuee e 3 anend
FEqa: SiaA i W AT TIRA FA 8| HEE S gawd 99, I THIEH i q9T AfE w1 Fe3ad
v I A 2| 9H, 29, TH, SHIETE SR 9 S 29 2| WO § 3 Fud 98 fien =@ E
oed Sfed 1 @ el O S e 9 99en 39 B W 39 9UYH % 39 G| |1 SaiEd A
STETHEYY R HO, 3041 81 35 T THE A0 S e UiUsT § & Igeh! HeEal & 9w R
Ellef

3 HEwU a% T § - Wedeh GOl 379 oY T ol AT 21 Ui gu & i o faem fafza wd
2| U U7 3R WRIgEl & A9l w1 feed Az 2 R owed @ = sy oW faga g il 9
UReith® Bt gfeedi ¥ sAfgas 2, aHa-9d & Sfaga @ 3N 30 faF™ #1 aFErTE €9 9 Fifa w6 2
9 AT, 373U, gg-Hweu AN IcHE UF ATed % o9 Hud w0 AeE-19 W 98 90 AR 9w e &
Tomrre <t e w97 I W fawg are Fifaw)

From among the four options given, choose the word in the passage that means the same as
‘breathtaking’

(1) Shimmering (2) Especially
(3) Spectacular (4) Inhaling
(1) 1

(2) 2

(3) 3

(4) 4

‘Fifsra’ weg =01 faem 21

(1) =iy (2) wfFa

(@) oI (1) TFH

(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=49405]
2[Option ID=49406]
3[Option ID=49407]
4[Option ID=49408]

Sl. No.28

QBID:1163028
Beneath the ocean’s surface waits a different world — quiet, full of wonder, shimmering with
life. Carter Viss loved that world, It's why he left Colorado to study marine biology at Palm
Beach Atlantic University. It's why he got a job at the Loggerhead Marinelife Center, just up
Highway 1 on Florida's east coast. And it's why he spent so much free time snorkeling in the

reef system just a couple of hundred meters away from the famous Breakers resort in Palm
Beach.

This particular Thursday morning — 28 November 2019 — was especially nice. It was
Thanksgiving. Tourists and locals alike hit the beaches. The water was flat, the sky blue and
the underwater wvisibility spectacular. Twenty-five year old Viss and his 32-year-old co-
worker, Andy Earl, spent a couple of hours among the sharks, eels, turtles, octopus, lionsfish
and angelfish. Thev netted some small specimens for Viss's personal collection. Finallw,
around moon, they headed for shore.

To a diver underwater, outhoard engines have a clear, unmistakable sound. On the surface,
however, swimming the crawl, Visz didn’t hear the powerboat until it was almost on top of
him. When he saw it, he knew he had just an instant. He pulled desperately to one side,
getting his head and upper torso out of the boat’s path before it ran him over.

ffafas maw @ fiw mo vt & @ oo =i 9w -

FHEG Fqa: Sa- & 99E §| Al FEEnd 7 2, a1 AEH WE: A9 i fAfeRa smee @ 3 g
TEqA: SaA @ W F AT G Fd] & | HEE ) gasd §9h, I96 SH1EH Hd G99 SAfEd & S0
o I A 21 uH, 29H, FH, SHIEE S8 9ae A ¢ 21 i § 3 w91d g fien ot €
o Sfaq i feafa | Sfin @/ 9 oaen 3@ 2M W 3E% §EYH % 3UE G 91 SAfdd T
STRETICYY hid T, 301 &1 35 TH& TN 0T 3R 39 9iUe § & 39! HgEar &1 Hai
Ejuil

3 WUl 0% T § - Ueddh 9ue AUY 919 HHN ol ATl 2| Uedd 99y o o ° faem ffEa wd
2| OHE UGl ¥R HEIgESl o ¥l & ke 9 § T "5 ® s sua 399 foga g Sl 9
NGl B gl ¥ AfEas 2, WHa-9H & Wiagd @ AN A9 [GEE F SEEeIE €9 9 qia w4 2
9 A, 373, Fe-HFed AN o6 VA AIEH & @19 Hy wU HEE-19 W 9@ A¢ A AW A F
Tore =it smane] €9 e W fae ara Fifsw)

From among the four options given, choose the word in the passage that means the opposite
of ‘unclear’

(1) Unmistakable (2) Wonder
(3) Visihility (4) Desperately
(1) 1

(2) 2

(3) 3




(4) 4
fafefaa 8 9 ‘e’ 9 SH-a1 yoag w=im T mn 27

(1) Fud (2) % 999
(3) T 9 (1) o v

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=49409]
2[Option ID=49410]

3[Option ID=49411]
4[Option ID=49412]

Sl. No.29
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Beneath the ocean’s surface waits a different world — quiet, full of wonder, shimmering with
life. Carter Viss loved that world. It's why he left Colorado to study marine biology at Palm
Beach Atlantic University. It's why he got a job at the Loggerhead Marinelife Center, just up
Highway 1 on Florida's east coast. And it's why he spent so much free time snorkeling in the

reef system just a couple of hundred meters away from the famous Breakers resort in Palm
Beach.

This particular Thursday morning — 28 November 2019 — was especially nice. It was
Thanksgiving. Tourists and locals alike hit the beaches. The water was flat, the sky blue and
the underwater wvisibility spectacular. Twenty-five yvear old Viss and his 32-year-old co-
worker, Andy Earl, spent a couple of hours among the sharks, eels, turtles, octopus, lionsfish
and angelfish. They netted some small specimens for Viss’s personal collection. Finally,
around moon, they headed for shore.

To a diver underwater, outhoard engines have a clear, unmistakable sound. On the surface,
however, swimming the crawl, Visz didn’t hear the powerboat until it was almost on top of
him. When he saw it, he knew he had just an instant. He pulled desperately to one side,
getting his head and upper torso out of the boat’s path before it ran him over.

ffafaa memm & fgu T v F 9d e = 9f -

IS FEqd: Siaq #1941 2| 3fE FHen 9w, 9 e 9 39 # AR wEee @ 3 g
FEqA: a1 W F AT T FA] 8| A R G 99h, IqH THEE G99 FfEd w1 S0
o 3T AT g1 9, 8¥F, TH, BAIGeE $2 99 i oF &) T 4 3A4e H9n 98 e o 2
e SfeA 6 @ feufa o S @ 9 a9 30 2 W 39 SEYE % 39 49 S SiEd S
STETIEYY I T, 3691 &1 356 THE THEAG AT A e qiUed § & Igeh! HeEdl F g
Eluf

3 TEwqUl 924 T § - Uedd OuEN AU A1 THY o d 2| s Oud o d 4 faem ffEa wd
2| OO0 U9 R HEIENl o A9l &1 e 9 2 T e ® = SAva 399 faga e w4
NGl B gieedl ¥ Algast 8, WHa-gH & Yiagd 8 SN AU [GFE F SEEraE €9 9 qiua w6 2
9 A, 373U, 3-HFed AN IR VA A1eH & @19 HoY w0 HE-19 W 98 A0 AL AW A F
Toere =it smare] €9 e W e g Fifsw)




Why was 28 November 2019 particularly suitable for snorkelling?

(1) It was Thanksgiving
(2) It was a clear day and the underwater visibility was spectacular
(3) The water was full of people in powerboats

(4) The beaces were full of tourists and locals

(1) 1
(2) 2
(3) 3
(4) 4

Tafafaa 8 9 oo’ =1 faem wes = 27
(1)  T=m (2) TaEmEo

(3) SIEHT (4) AT

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49413]
2[Option ID=49414]

3[Option ID=49415]
4[Option ID=49416]
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Beneath the ocean’s surface waits a different world — quiet, full of wonder, shimmering with
life. Carter Viss loved that world. It's why he left Colorado to study marine biology at Palm
Beach Atlantic University. It's why he got a job at the Loggerhead Marinelife Center, just up
Highway 1 on Florida's east coast. And it's why he spent so much free time snorkeling in the

reef system just a couple of hundred meters away from the famous Breakers resort in Palm
Beach.

Thiz particular Thursday morning — 28 November 2019 — was especially nice. It was
Thanksgiving. Tourists and locals alike hit the beaches. The water was flat, the sky blue and
the underwater wviaibility spectacular. Twenty-five yvear old Viss and his 32-year-old co-
worker, Andy Earl, spent a couple of hours among the sharks, eels, turtles, octopus, lionsfish
and angelfish. They netted some small specimens for Viss’s personal collection. Finally,
around moon, they headed for shore.

To a diver underwater, outboard engines have a clear, unmistakahle sound. On the surface,
however, swimming the crawl, Viss didn’t hear the powerboat until it was almost on top of
him. When he saw it, he knew he had just an instant. He pulled desperately to one side,
getting his head and upper torso out of the boat’s path before it ran him over.

frafafaa T & fiw e vt & 98 fawen i gfw -

TUEE IEqa: Si9d F 9AE 21 3fE Feed F 8, 9 e uE: A 1 fAfees wuee e 3 anend
FEqa: SiaA i W AT TIRA FA 8| HEE S gawd 99, I THIEH i q9T AfE w1 Fe3ad
v I AT 2| 9H, 29, TH, BHIETHE S8 99 i oF 2| TN § 3 F41e g8 fien = 2
oed Sfed 1 @ el O S e 9 99en 39 B W 39 9UYH % 39 G| |1 SaiEd A
STETHEYY R HO, 3041 81 35 T THE A0 S e UiUsT § & Igeh! HeEal & 9w R
Ellef

3 HEwU a% T § - Wedeh GOl 379 oY T ol AT 21 Ui gu & i o faem fafza wd
2| AU U7 AR WRIgEl & A9l w1 feed Az 2 R owed @ = sy oW faga g il 9
UReith® Bt gfeedi ¥ sAfgas 2, aHa-9d & Sfaga @ 3N 30 faF™ #1 aFErTE €9 9 Fifa w6 2
9 AT, 373U, gg-Hweu AN IcHE UF ATed % o9 Hud w0 AeE-19 W 98 90 AR 9w e &
Tomrre <t e w97 I W fawg are Fifaw)

Why did Viss move from Colorado to Palm Beach?

(1) To collect underwater specimens for his collection
(2) To work with Andy Earl
(3) To study marine biology
(1) To celebrate Thanksgiving
(1) 1
(2) 2
(3) 3
4) 4

ffeifign uftess & s1gaR "ud, 39, T S 8 3c B 27

(1) o=y i W H (2) e <1 o &
(3) AR H W H (4) @™ i W




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=49417]
2[Option ID=49418]

3[Option ID=49419]
4[Option ID=49420]

Sl. No.31
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A man has solids of shapes (sphere, cube, eylinder, cuboid and cone) Area of base of cuboid 15
110 em?. Radius of sphere and cylinder are equal but volume of evlinder 18 25% less than the

volume of aphere. Height of cone 1s equal to the edge of cube and volume of cube ﬂﬁ%% of

volume of cone. Radius cone 18 equal to height of cuboid and height of cuboid 1s half of the
diameter of the sphere. Ratio of volume of cylinder, cuboid and cube are 462 : 110 : 441
reapectively.

What iz the sum of volume of cone and volume of cuboid?

(1) 10131 em?

(2) 12012 em?

(3) 13013 em?®

(4) 9801 em?

(1)
(2)
(3)
(4)

A W N =

T =fa F U T, T, Sod, T a91 I SER F 3@ 5| T F aa/SEN F SEwe 110 S 2
el T97 e =i a1 SeR 2 fohg oo &1 A Tl & SIEaA | 25 %0 ©| I 6l S915 99 & R *

TR q91 94 =1 AT TF 6 T4 H 95%% 21 viF i s gay it F=¢ & Fue 8 99 ==y fi
F4TE et i e i i 21 e, 99T 991 99 o 37904 A 462 : 110 : 441 3{9W H 2|

I & STIGH a1 9ary o A F F07 #9187

(1) 101314 #
(2) 121029 i
(3) 13013 & #i®
(4) 9801 ¥ Hi3
(1) 1
(2) 2

(3) 3
(4) 4




1[Option ID=49421]
2[Option ID=49422]
3[Option ID=49423]
4[Option ID=49424]
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If x = — 0.5, then which of the following has the smallest value?

1 2
(2) iz
(3) 1/x2
@ -
d=x
(1) 1
(2) 2
3) 3
(4) 4

e x =— 0.5 79 = 9 Fras v 599 +9 2@ 2

(1) iz
(2) 1/x
(3) 12

1
(4) —_——
J-x

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49425]
2[Option ID=49426]
3[Option ID=49427]
4[Option ID=49428]

Sl. No.33
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Which one of the following is the common factor of (479 + 43%) and (477 + 4347)
(1) (47 —43)

(2) (474 + 4349

(3) (47 + 43)

(4) Data inadequate

(1)
(2)
(3)
(4)

A W N =




Fre § e (4794 4349) A9 (4797 + 4347) F1 ING-YUA WE BT

(1)  47-43)
(2) (474 + 434)
(3) (47 + 43)

(4) sl A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49429]

2[Option ID=49430]

3[Option ID=49431]
4[Option ID=49432]

Sl. No.34
QBID:1163034

The ratio of the age of Pawan to that of Richa is 9 : 10. 10 vears ago, the ratio of their ages
was 4 : 5. What 1s the present age of Richa?

(1) 24 vears

() 20 vears

(3) 18 years

(4) 38 years

(1) 1
(2) 2
(3) 3
(4) 4

vam & oy w1 fen i sy B sgmm 9 10 21 10 3 @ s g w1 sTE 4 5 9 fen o adee
Y TR

(1) 244
(2 20
(3 18T
(4 38
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49433]
2[Option ID=49434]
3[Option ID=49435]
4[Option ID=49436]

Sl. No.35
QBID:1163035




A train travelling at a speed of 80 mph enters that iz 2.5 miles long. The length of the train is
0.5 mile. How long does it take for all of the train to pass through the tunnel from the
moment the front enters to the moment the rear emerges?

(1) 2 minutes
(2) 2 minutes 30 seconds

(3) 2 minutes 15 seconds

(4) 3 minutes

(1) 1
(2) 2
(3) 3
(4) 4

80 #ft wfa =¢ it aE & el g€ U ¢4 2.5 Hid T GO o Y99 w21 ¢ i T 0.5 Hier @1 al
29 F U 999 F oo 99 98 399 el Meedt @ A wm @i e

(1) 2 fFe
(2) 2 T=e 30 H=vs
(3) 2 Tme 15 gwve
4) 3

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=49437]
2[Option ID=49438]
3[Option ID=49439]
4[Option ID=49440]

Sl. No.36
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If tax is charged at 22% on the first RBs.5,50,000 and 35% on all income in excess of
R&.5,50,000, how much tax is charged on an income of Rs.8,00,000?

(1) Rs.2,00,000
(2) Rs.3,00,000
(3) Rs.2.80,000
(4) Rs.2,08,500

(1) 1
(2) 2
(3) 3
(4) 4




72 999 %.5,50,000 W HL 22% 91 5,50,000 %. H AT @it 39 W 35% foran <@ 21 8,00,000 %. i
w13 W fehan & foran smom 7

(1) % 2,00,000
(2) % 3,00,000
(3) % 2,80,000
(4) % 2,08,500

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49441]
2[Option ID=49442]
3[Option ID=49443]
4[Option ID=49444]

Sl. No.37
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You have to study the question and the statements and decide which of the statement(s)
isfare necessary to answer the question.

In how many vears will a sum of money put at simple interest treble itself?

A The interest earned in 4 years 1s half the sum.
B. The rate of interest is 12%.
C. The sum doubles itself in 8 vears at simple interest.

Choose the correct answer from the options given below:
(1) Aand B only

(2) B and C only

(3) A and C only

(4) Either of A or B or C

(1) 1
(2) 2
(3) 3
(4) 4




9! W9 A1 FIHI FI GSA1 & a91 HuiF T & F FE H/A1 FA TEGGF 28| WH F I o4 2g
o TS SR =471 | fohaq a9t o70 foopt & st 7

A. 4 91 § Al =TS G AT 2

B. =9 & 12.5% &I

C.  WTYRw = H 99 T 8 a9 H A g 8@ A 2

i feu U fameut § | 9 39 w1 =994 Hifau;
(1) Haa ARB

(2) Fad B3R C

(3) A AIRC

(4) FEAATMBAC

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49445]
2[Option ID=49446]

3[Option ID=49447]
4[Option ID=49448]

Sl. No.38
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If the cost price 18 75% of the selling price, then what is the profit in percentage?

() 25%

2  30%

(3)  33.33%
(4  27.5%
(1) 1

(2) 2

(3) 3

(4) 4

af2 %4 gea, faa gog #1 75% ) 7= ufawa § o Fn 27

(1)  25%
(2)  30%
(3) 33.33%
(4 27.5%
(1) 1
(2) 2

3) 3




(4) 4

1[Option ID=49449]
2[Option ID=49450]
3[Option ID=49451]
4[Option ID=49452]

Sl. No.39
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A number iz increased by 20% and then again by 20%. By what percent should the inereased
number be reduced =0 as to get back to the original number?

11

(1) 19—"%

@  305%

(3) 40%
(4) 44%

(1)
(2)
(3)
(4)

A W N =

v W H 20% 3fg Fit R R E 20% 3fg F o, 9@ w0 # @ ym wR F e T4 e ==
fren uftma == ggm e

11
%

1 19
S a1

@) :'e.n%%
(3) 40%
(4) 44%

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49453]
2[Option ID=49454]

3[Option ID=49455]
4[Option ID=49456]

Sl. No.40
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: : ; : 1 :
A pump can fill a tank with water in 2 hours. Because of a leak, it took 27; hours to fill the
tank. The leak can drain all the water of the tank in:
(1) 8 hours

(2) 7 hours
(3) 14 hours

(4) 4% hours

(1) 1
(2) 2
(3) 3
(4) 4

UF U9 U ¢ &l U1 @ 2 ¢ H 9T Gl 2| UF @@ & S0 98 7% 1 v | E%ﬁ%ﬁﬁ%lﬁ'ﬂlﬁ
&% & ¢ urt # e § F fees gug § ww ame

(1) 8T
(2) 7He
(3) 14 9¢
)
4 4= H
(4) 3
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49457]
2[Option ID=49458]
3[Option ID=49459]
4[Option ID=49460]

Sl. No.41
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25% of 30% of 850 + 5 x 76 =7

(1) 441.75
(2) 441.57
(3) 443.57
(4) 443.75

(1) 1

(2) 2

(3) 3

(4) 4




25% of 30% of 850+ 5 x T6 =7

(1) 441.75
(2) 441.57
(3) 443.57
(1) 443.75

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49461]
2[Option ID=49462]

3[Option ID=49463]
4[Option ID=49464]

Sl. No.42
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38.4% of 1450 + 78.2% of 240 — 7% = 20% of 77.4
Find ?

() 18

2 29

@H 2
(4) 81
(1) 1
(2) 2
(3) 3

(4) 4

38.4% of 1450 + 78.2% of 240 — 7* = 20% of 77.4

s Fifsu 2

(1) 18
2 29
(3 27
(4) 81
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49465]
2[Option ID=49466]
3[Option ID=49467]
4[Option ID=49468]

Sl. No.43




QBID:1163043

If g27-1 - /8" ‘q', then the value of n 1s:

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

gz o2l gt dmmawmAR

(1)
(2
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

4
—2
0
2

3
-2
0

2

1[Option ID=49469]
2[Option ID=49470]
3[Option ID=49471]
4[Option ID=49472]

Sl. No.44
QBID:1163044

@372 =7 +[(11J§+ 543) % (943 + 114/3) ]

(1) 406
(2) 409
(3 411
(4) 415
(1) 1
(2) 2
(3) 3
(4) 4
@B =7+ [(11«,."E+5ﬁ3 % (943 +114f3) ]
(1) 406
(2) 409
(3 411
(4 415




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=49473]
2[Option ID=49474]

3[Option ID=49475]
4[Option ID=49476]

Sl. No.45
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Match the following: For the quadratic equation ax” +bx + ¢ =0 with roots o and B.

List I List II
(A) a=p M (@ +@®)3+b=0
(B) a=2p D 2b% =9ac

(C) a=3p (1) &7 = dae

(D) a=pe (IV) 3b* =16ac

Choose the correct answer from the options given below :

(1) (A)-@), (B)-(ID), (C)-(I11), (D)-(IV)
(2 (A)-aD, (B)-(D), (C)-(IV), (D)-(I1I)
(3) (A, (B)-(D), (C)-(1I), (D)-(IV)
(4)  (A)-(II), (B)-ID), (C)-(IV), (D)-(D)

(1) 1
(2) 2
(3) 3
(4) 4
Tt 1% |y = 1 # foerm i
o q91 p 9E |fed fam afiwm arZ+bx+e=0%
1 oI
(A a=p @M  (acH'? (@) +b=0
(B) a=2p (I  2b% =9ac
(C) a=3p (I 5 = dac
D) a=p Iv) 3b% =16ac
I fou o el 0 @ wdt I 99w fifeu:

(1) (A)-(1), (B)-(II}, (C)-(LIL), (D} (IV)
(2 (A)-(IT), (B)-(I), (C)-(IV), (D)-(I1I)
(3) (A)-(I11), (B)-(I), (C)-(II), (D)-(IV)
(4) (A)-(I11), (B)-(1I), (C)-(IV), (D)-(T)




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49477]
2[Option ID=49478]

3[Option ID=49479]
4[Option ID=49480]

Sl. No.46
QBID:1163046

Three numbers A, B and C are in the ratio of 12 : 15 : 25. If sum of these numbers is 312, ratio
between the difference of B and A and difference of C and B is

(1) 3:7
(2) 5:7T
(3) 3:10
(4) 5:10
1) 1

(2) 2

(3) 3

(4) 4

99 &IU A, B a9 C, 12:15:25 % 319 | g1 9fg 1 S&A1ed &1 401 312 8, B 99 A & € 31K C
41 B % =<1 & 3HIE ¢ -

(1) s
(2) a:7
(3) 3:10
(1) 5:10

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49481]
2[Option ID=49482]
3[Option ID=49483]
4[Option ID=49484]

Sl. No.47
QBID:1163047




-

27
100000

The fraction 101 in decimal for 15:

(1) 0.01027

(2) 0.10127

(3) 101.00027
(4) 101.000027

(1) 1
(2) 2
(3) 3
(4) 4
N2 e i g
100000

(1) 0.01027

(2) 0.10127

(3 101.00027
(4) 101.000027

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49485]
2[Option ID=49486]

3[Option ID=49487]
4[Option ID=49488]

Sl. No.48
QBID:1163048

A man goes to Goa for a three-day stay. On the first day he doubles the money he has and
spends Rs.160. On the second day he triples the money he has and spends Rs.130. On the
third day he quadruples the money he has and spends Rs.200. If he is left with twice the
money he had at the beginning of the first day, how much money did he have at the end of the
first day?

(1) 54
@ 75
(3) 82
(1) 80
(1) 1
(2) 2
(3) 3

(4) 4




s Afad o fed % & foe e a1 21 9gdl o9 98 35 98 99 &I ST Hdl & a97 €.160 @ Hidl
21 g8t 137 97 35 T8 o9 FI 4 A A ¢ a9 5,130 @9 Fal 8| 96 57 9% 366 99 99 H =GR [
FAA1 & TG F, 200 G A1 gl AG 30k W Tl fgA & AN & THT % 99 H g A 94 991 8, Ged
7 % o9 4 3m% T R = @17

(1) 54
2 75
(3 82
1) 80
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49489]
2[Option ID=49490]
3[Option ID=49491]
4[Option ID=49492]

Sl. No.49
QBID:1163049

The average of six numbers is ¥ and the average of three of these is y. If the average of the
remaining three i3 z, then:

(1) x=y+2
(2) 3x=y+2
(3) 2 =y4+z
(4) x=2y+2
(1) 1
(2) 2

(3) 3
(4) 4

T: TEATHAT T IEA x 2 791 T0 dHF 1 2Fq y 2| IfE Fehl &1 F4d 2 2 99

(1) xX=y+z
(2) dx=v+z
(3) x=y+2

(4) x=2y+22




1[Option ID=49493]
2[Option ID=49494]
3[Option ID=49495]
4[Option ID=49496]

Sl. No.50
QBID:1163050

If x and y are integers and x—y is odd, which of the following must be true?

Al xy 18 even,

F . -
B. x7 +y" 1sodd
C. (x +1}r}l2 15 even

Choose the correct answer from the options given below:
(1) A, Band C only

(2) Aand B only

(3) A only

(4) B only

(1) 1
(2) 2
(3) 3
(4) 4

Ifg x a4 y qUis 8 a9 x—y fouw B, Fr=1 9 &9 W 93 g =it

A I_}'HII%
B. x2 4+ y® fawm 2
i (x+y)2Tm g

= fou o fawedi § 9 9E1 I w1 999 Hifau
(1) wad A, BaaC

(2) HId AT B

(3)  Had A

(4) %aa B

()1
(2) 2
3) 3
(4) 4
1[Option ID=49497]
2[Option ID=49498]

3[Option ID=49499]
4[Option ID=49500]

Sl. No.51
QBID:1163051




Match List I with List II:

0.00783=x14.5:0.7

List I List IT
(A) (0.1667)(0.8333)(0.333) Iy 0.8
(0.2222)(0.6667)(0.1250)
B) 489.1375x0.0483 x1.956 (II) 0.86
0.873=02.581=x99.749
©) 0.0203 = 2.92 (III) 2.50

(0.96)% —(0.1)*
(0.96)% +0.096 + (0.1)%

(IV) 0.06

Choose the correct answer from the options given below :

(1)  (A)-@), (B)-(II), (C)-(III), (D)-(IV)
(2) (A)-(I11), (B)-(IV), (C)-(I), (D)-(1I)
(3) (A)-(I11), (B)-(1I), (C)-(IV), (D}-(T)
(4) (A)-(IV), (B)-(1I), (C)-(I), (D)-(I1I)
(1) 1
(2) 2
(3) 3
(4) 4
Tt 1% |y g 1 = faem $ifsu:
1 H?ﬁ I1
(A) (0. 166TH0.8333)(0.333) Iy 08
(0.2222)0.6667)(0.1250)
(B) 4353..1.'175 = (.0483 x1.956 (II) 0.86
0.873x 92.581 x 99.749
© 0.0203 % 2.92 (Il 2.50
0.0073x14.5x0.7
©O) (0.96)* —(0.1)" (IV) 0.06
(0.96)% + 0.096 + (0.1)%

dr= fou o famedi | ® wdt I = = Hifsu

(1) (A)-(I), (B)-(1II), (C)-(I1I), (D)-(IV)
(2) (A)-(III), (B)-(IV), (C)-(T), (D)-(1I)
(3) (A)-(I11), (B)-(1I), (C)-(IV), (D)-(T)
(4) (A)-(IV), (B)-(1I), (C)-(I), (D)-(III)
(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=49501]
2[Option ID=49502]
3[Option ID=49503]
4[Option ID=49504]

SI. No.52
QBID:1163052
‘\'ﬁ+1 '\EE—I @ ®i.
If x = and y= , then the value of (x= +y°) 18 :
Ji-1 T A3+ >
(1) 10
(2) 13
(3) 14
(4) 15
(1) 1
(2) 2
(3) 3
(4) 4
M2 x = % Ay = "'r:_ll (xZ+yhHymmmd:
3- 3+
(1) 10
(2) 13
(3) 14
(4) 15
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49505]
2[Option ID=49506]
3[Option ID=49507]
4[Option ID=49508]

Sl. No.53
QBID:1163053

A mixture of 60 kg of rice and dal contains 45% of dal. The new mixture is formed by adding
15 kg of dal. What is the percentage of rice in the new mixture?

(1) 40%
(2) 5%
(3) 45%
(4) 44%
(1) 1
(2) 2

(3) 3




(4) 4

IEad 991 21 + 60 TR.an. fugw 4 459% 2« 21 15 .. 2 sieat = fogm s =m0 A fago 4
HTEe I Qa9 #= 8 7

(1)  40%
2  55%
(3)  45%
(1)  44%

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49509]
2[Option ID=49510]

3[Option ID=49511]
4[Option ID=49512]

Sl. No.54
QBID:1163054

The ratio between the three angles of a quadrilateral is 3 : 4 : 9. The value of the fourth angle
of the quadrilateral 1s 88", What is the difference between the largest and the smallest angles
of the quadrilateral?

(1) 102"
(2) 106"
(3) 82"
(4) B2t

(1) 1
(2) 2
(3) 3
(4) 4

U IgYd & o HON F A 3:4:9 | FgYS % =G H0 FH HE 88° Bl 9GS H TOH 9% 79T gad
BIE IV T AL FT 87

(1)  102°
(2  106°
3 82
(4 92°

(1) 1

(2) 2

(3) 3

(4) 4




1[Option ID=49513]
2[Option ID=49514]
3[Option ID=49515]
4[Option ID=49516]

Sl. No.55
QBID:1163055

What is the probability of the oceurrence of a number that is even or less than 3 when a fair
die 1z rolled?

(1 23
2 32
(3 506
(4 65
(1) 1
(2) 2
(3) 3
(4) 4

T UF U F dEHEl A1q1 8, q9 9 G 9G] 3 H DI Tl % AW il Wi 91 27

(1) 2/3
(2) 32
(3) a6
(4) 6/5
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49517]
2[Option ID=49518]
3[Option ID=49519]
4[Option ID=49520]

Sl. No.56
QBID:1163056

A speaks truth in 75% cases and B in 80% of the cases. In what percentage of cases are they
likely to contradict each other, narrating the same incident?

(1) 5%
(2)  15%
(3  35%
(49  45%
(1) 1
(2) 2
(3) 3

(4) 4




A 75% AWl § TcF AldAdT & a9 B 80% TEA! | UF 2 941 R °dd § 399 fRad ufawa 9% &5
Hafaty gy 27

(1) 5%
(2) 15%
(3) 35%
(4)  45%
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49521]
2[Option ID=49522]
3[Option ID=49523]
4[Option ID=49524]

Sl. No.57
QBID:1163057

In how many different ways can the letters of the word ‘POTENCY’ be arranged in such a
way that the vowels always come together?

(1) 1360
(2) 3720
(3) 2480
(4) 1440
(1) 1
(2) 2
(3) 3
(4) 4

POTENCY & avil =l fras e dliwi d et s osa 2 fs ofl = v sy @7

(1) 1360
(2) 3720
(3) 2480
(1) 1440

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49525]
2[Option ID=49526]

3[Option ID=49527]
4[Option ID=49528]

Sl. No.58




QBID:1163058

A bowl contains 8 violet, 6 purple and 4 magenta balls. Three balls are drawn at random.

Find out the number of ways of selecting the balls of different colour?

(1) 192

(2) 2
(3) 248
(4) 362

[
| k)

(1) 1
(2) 2
(3) 3
(4) 4

U FeN H 8 51, 6 Hid difed a91 4 A 75 € Agfeas dF g e w| fam o f 6 w9
F & I I T T F

(1) 192
() 122
(3) 248
(4) 362
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49529]
2[Option ID=49530]
3[Option ID=49531]
4[Option ID=49532]

Sl. No.59
QBID:1163059

The zecond largest and the smallest angles of a triangle are in the ratio of 6 : 5. The difference
between the second largest angle and the smallest angle of the triangle iz equal to 9°. What 1s
the difference between the smallest and the largest angles of the triangle?

I
2 24
(3 18
(4 36
(1) 1
(2) 2
(3) 3

(4) 4




fry= = fodfi wad a2 a9 w=d 2R FW 6:5 % Aqa A ¥ fifa w=) =92 aq w99 90 S0 w S
9" % T 21 Brya % wEd 2 a0 wEd @Y F0i @ AR 27

(n 120
2 24°
18
(1) 36
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49533]
2[Option ID=49534]
3[Option ID=49535]
4[Option ID=49536]

Sl. No.60
QBID:1163060

If three metallic spheres of radii 6 cms, 8 cms and 10 ¢ms are melted to form a single sphere,
the diameter of the new sphere will be:

(1) 24 em
(2) 12 em
(3) 16 em
(4) 30 em
(1) 1
(2) 2
(3) 3
(4) 4

6 B, 8 A, aw 10 B, B F A9 ug F Ml F TS UF e S9N T T # s
&rm

(1) 24 5.4,
(2 12 8.,
(3) 16 #A,
(4) 30 B
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49537]
2[Option ID=49538]
3[Option ID=49539]
4[Option ID=49540]

Sl. No.61
QBID:1163061




The next four questions are based on the following:

Eight friends P, Q. R, S, T, U, V and W are sitting around a circular table and all of them are
facing away (outside) the centre but not necessarily in the same order. T sits opposite to S. P
sits second to the left of S. Q sits third to the left of P. U sits second to the left of Q. R is not
an immediate neighbor of P. W sits second to the left of V. P sits opposite to R.

AE I - P,Q R, S. T, U, V3R W UF IR 49 & 91 AN o3 T4 & I Fa- &5 o fauda fam
et 1 AR = A1 g3 B WlFA HAH 36T FH H oA A@TIE A6l el T F TH S F IF g 2
PHFEHSF AN ZHET 2| Q F ¥H P & @@ € @90 81 U F1 ¥9H Q F 99 4 390 81 R 1 &9
P % 901 TS | 7@l 2| W %1 ¥9H V & @ % 280 21 P %1 ¥4 R % 3% avH 2

What is the position of 8 with respect to W?
(1) Third to right
(2) Third to left

(3) Fourth to right
(4) Second to left

1) 1
(2) 2
(3) 3
(4) 4

Wl ge 1 § S #1 wH 0 27
(1) =R | o
(2 =d #H dfimn
(3) =i & =
(4)  =HEH ZE
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=49541]

2[Option ID=49542]

3[Option ID=49543]
4[Option ID=49544]

Sl. No.62
QBID:1163062




The next four questions are based on the following:

Eight friends P, Q. R, S, T, U, V and W are sitting around a circular table and all of them are
facing away (outside) the centre but not necessarily in the same order. T sits opposite to S. P
sits second to the left of S. Q sits third to the left of P. U sits second to the left of Q. R is not
an immediate neighbor of P. W sits second to the left of V. P sits opposite to R.

AE I - P,Q R, S. T, U, V3R W UF IR 49 & 91 AN o3 T4 & I Fa- &5 o fauda fam
et 1 AR = A1 g3 B WlFA HAH 36T FH H oA A@TIE A6l el T F TH S F IF g 2
PHFEHSF AN ZHET 2| Q F ¥H P & @@ € @90 81 U F1 ¥9H Q F 99 4 390 81 R 1 &9
P % 901 TS | 7@l 2| W %1 ¥9H V & @ % 280 21 P %1 ¥4 R % 3% avH 2

Who sits third to the right of R?

@ T
@ Vv

(3) =

@ W
(1) 1
(2) 2
(3) 3

4) 4

R ¥ o783 @ #iet = Fm 27
n T

@ Vv

@ 8

@ W

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49545]
2[Option ID=49546]
3[Option ID=49547]
4[Option ID=49548]

Sl. No.63
QBID:1163063




The next four questions are based on the following:

Eight friends P, Q. R, S, T, U, V and W are sitting around a circular table and all of them are
facing away (outside) the centre but not necessarily in the same order. T sits opposite to S. P
sits second to the left of S. Q sits third to the left of P. U sits second to the left of Q. R is not
an immediate neighbor of P. W sits second to the left of V. P sits opposite to R.

AE I - P,Q R, S. T, U, V3R W UF IR 49 & 91 AN o3 T4 & I Fa- &5 o fauda fam
e T AR = A1 g3 B WA HAH 36T FH H oS AETIE A2l el T F W S F I 9 2
PHREASFANEZHET 2| Q F ¥H P & ar € @90 81 U F1 ¥ Q F 919 4 390 81 R 1 #H
P % 901 TS | 7@l 2| W %1 ¥9H V & @ % 280 21 P %1 ¥4 R % 3% avH 2

Who sits to the immediate right of 57

(1) P
(2
(3
(4)
(1)
(2)
(3)
(4)

S % T a1 FH 27

(1)
(2)
(3)
(4)
1) 1
(2) 2
3) 3
(4) 4

< £ 4

A W N =

<o cd

1[Option ID=49549]
2[Option ID=49550]
3[Option ID=49551]
4[Option ID=49552]

Sl. No.64
QBID:1163064




The next four questions are based on the following:

Eight friends P, Q. R, S, T, U, V and W are sitting around a circular table and all of them are
facing away (outside) the centre but not necessarily in the same order. T sits opposite to S. P
sits second to the left of S. Q sits third to the left of P. U sits second to the left of Q. R is not
an immediate neighbor of P. W sits second to the left of V. P sits opposite to R.

AE I - P,Q R, S. T, U, V3R W UF IR 49 & 91 AN o3 T4 & I Fa- &5 o fauda fam
et 1 AR = A1 g3 B WlFA HAH 36T FH H oA A@TIE A6l el T F TH S F IF g 2
PHFEHSF AN ZHET 2| Q F ¥H P & @@ € @90 81 U F1 ¥9H Q F 99 4 390 81 R 1 &9
P % 901 TS | 7@l 2| W %1 ¥9H V & @ % 280 21 P %1 ¥4 R % 3% avH 2

How many friends sit between V and T from the right of T?

B &
(2)

3 2
(4)

(1) 1
(2) 2
(3) 3
(4) 4

T % ZfERt s & V &R T & 9 4 e fim 33 87

(1) 6
(2
(3)
(4) B

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=49553]
2[Option ID=49554]

3[Option ID=49555]
4[Option ID=49556]

Sl. No.65
QBID:1163065




Congider the following arrangements of numbers;

2,6,7,5,43 748948943254 790,868712537684%92136

How many Ts are there in the above zeries which are immediately preceded by an even
number and immediately followed by an odd number?

(1) 2
(2) 1
(:3) 3
(4)

(1) 1
(2) 2
(3) 3
(4) 4

HemH #i frefaten sEen w famm fifts -

2. 6.7.5.4.874,89.4,89.4.5325.4,7,9.86587.1.2535.7.689.385
I wen | e 73 Fos ae vect i wm w2 i aia g | #id fam wen 27
(1 2

(2
(3)
(4)

]

oo ke

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49557]
2[Option ID=49558]

3[Option ID=49559]
4[Option ID=49560]

Sl. No.66
QBID:1163066

Given below are two statements based on the following information above five friends.

Sunita iz heavier than Anita, but not as heavy as Renu. Anita is heavier than Javanti.
Kritika 1z heavier than Sunita, but lighter than Renu.

Statement 1 : Kritika is the heavieat among her friends.

Statement IT Jayanti is the lightest among her friends.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 15 true but Statement IT 15 false

(4) Statement I 15 false but Statement IT 15 true

(1) 1




(2) 2
(3) 3
(4) 4

ure =i & @i °§ = g o smeam @ A g e fEe T E)

el i & Wil B, SRE T R W T 21 e S @ sl Wi 21 S g & it Wi 2
A 1 & e 21

FE 1. Fiaw 30 o=l § w59 afasw 9/l 2
wa [1:  Sa=di 319 Tl § 999 g0l 2l

IHIH FYH & AT 7, A9 2 T e 7 ¥ 98 3 % =99 e

(1) FEIdARIISH a9 ¢
(2) e I3 11 51 @ @
(3)  FH [T 2, ik Fu [ 393 &

(4) FHIFAEIE, df FH AT 2

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=49561]
2[Option ID=49562]

3[Option ID=49563]
4[Option ID=49564]

Sl. No.67
QBID:1163067

Anju starts from point A and travels towards the East for 36 km to reach the point B, at B she
takes a right turn and travels for 77 km to reach point C. What is the distance between the
point A and C?

()  75km
(2) 89 km
(3)  86km
(4  85km
(1) 1
(2) 2
(3) 3
(4) 4




o fag A 9 =y #0F @ T d 36 fof. 9o fag B 7% wdedi 21 fag B W R aife sin
gedi2 st 77 ffl aem g Cmdad i g A s fag Cc s dangh 27

(1) 75
(2) 89
(3) 86 Fefi
(4) 85 Fmfi
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=49565]
2[Option ID=49566]
3[Option ID=49567]
4[Option ID=49568]

Sl. No.68
QBID:1163068

If symbol ‘P’ denotes ‘multiplied by’, ‘R’ denotes for ‘added to’, 'S’ denotes ‘subtracted from’ and
‘T" denotes ‘divided by”, then 1I6PAT8R 125 5=

() 80
(2) 54
(3 15
(4 8
(1) 1
(2) 2
(3) 3
(4) 4

i3 Heha P’ o n FA0 F, R H @ Sign ¥, S W oo F 9w R ofw T @ and wm FAv, 2 A
16P4T8R1255=
() 80
2 54
(3 15
(4)
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49569]
2[Option ID=49570]

3[Option ID=49571]
4[Option ID=49572]

Sl. No.69
QBID:1163069




From the three statements (A-C) and four conclusions (1-4) given below, identify the
conclusions that could be logically inferred.

Statement A :
B:
C:

Conclusion 1:

Some florist are cleaners.
No cleaner 15 a driver.

All drivers are florists.

Some cleaners are florists.

2 : All florists are drivers.
3 : No driver 1z a cleaner.
4 : Some drivers are cleaners.
(1) 1 only
(2) 1 and 3 only
(3) 1 and 4 only
(4) 3 only
1)1
(2) 2
(3) 3
(4) 4

= fon M T (A-C) 3 9w Pl (1-4) 9 8 3 791§ veam S5 S =24 F Aan w T
w9 4 sgia R e )

F A Fo gt awded §)
B. : #I§ AEEFH 1A =1 A 2
C. : ¥ A= et 2

Freamd 1 T FEGEHH gyl 2
2 | qefeshar areAare 2
3 FI§ ATEAIEF AEEEA A 2
4 F@ ATEAATF HEEEH 2

. farey

(1) =41

(2) FFa 133

()  FEE 134

(4) Faa 3

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49573]
2[Option ID=49574]
3[Option ID=49575]
4[Option ID=49576]

Sl. No.70




QBID:1163070

In the context of four statements (A-I)) given below, identify two of these statements that
cannot be true together but can be false together, assuming that there is at least one machine
in the company.

A
B.
C.
I

All machines make noise.
Some machines are noisy.
No machine makes noise.
Some machines are not noisy.

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

1
2
3
4

A and B only
C and D only
A and C only
B and D only

A fau =w F9di (A-D) F suR W, T 1 FYH F g S v @y 59 A4 @ wd o v |
1Eed B w21 wiAe & e § #8 8 w5 v g )

A
B.
C
D

fr e

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

AT wefi 9w

Fo HefH o =

#1E A 917 8 |

Fo Wl o 7

e el 8§ wd I W 9 Hifau:
*a A 3R B

g C R D

FaA AFRC
Fad B D

1[Option ID=49577]
2[Option ID=49578]
3[Option ID=49579]
4[Option ID=49580]

Sl. No.71
QBID:1163071




From the statement and two assumptions 1 and 2 given below, identify the assumption(s)
that isfare implicit in the statement.

Statement: Highly brilliant and industrious students do not always excel in the written
examination.
Assumption 1: The written examination is good mainly for mediocre students.

Assumption 2: The brilliant and industrious students cannot always write good answers in
the exam.

(1) 1 only

(2) 2 only

(3) Both 1 and 2
(4) Neither 1 nor 2

1) 1
(2) 2
(3) 3
(4) 4

A= fu o wem B F awonsi - 1 o 2-F0 ufen @R | Euronsl fi wwER fifw S oweR |
srfifem 21

oA : famem vl Tt ik oferdt o= foaftam when d 20m sepe vesl =8 #09)

pigromd 1 : ffEs when gea: oiwa ol # foe e 26 2

puiarord 2 : sy ufin are o oftesdt am wlien § gam s I A foa wed)

T ooy

() a1

() a2

(3) 1R 236

() FFM1smad2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49581]
2[Option ID=49582]

3[Option ID=49583]
4[Option ID=49584]

Sl. No.72
QBID:1163072




From the statement and two arguments 1 and 2 given below, identify the argument(s) that
hold(s) strong as per the situation described in the statement.

Statement :  Should students union 1n umiversities be abolished?

Argument 1 : Yes. Students can pay full attention to their career development.
2 1 No. All great leaders had been student’s union leaders.
(1) 1 only
(2) 2 only
(3) either 1 or 2
(4) neither 1 nor 2
(1) 1
(2) 2
(3) 3
(4) 4

dra fou Mo wem 3 2 AR- 1 32— ofRe s 3w w R veenf S wum o affe ofiferfd s
g [erE 21

FuH : ¥ vt § sE-wdi 5 mam = e afie?

T 1 E, B A W S S e s am ow

T 2 T, W WER A SE-"gi % A 9

ELEREE T i
() FEa1
(2) FEA2

(3) wWMA1W2
(4 AFM1smId2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49585]
2[Option ID=49586]

3[Option ID=49587]
4[Option ID=49588]

Sl. No.73
QBID:1163073

If A is the son of B, B and C are sisters. D is the mother of C, E is the son of D, then which of
the following statement is correct?

(1) E is the maternal uncle of A

(2) E and C are sisters

(3) A and E are cousins

(4) B is the daughter of E




(1) 1
(2) 2
3) 3
(4) 4

MBF@PAR B Cad &, DCH umn 2, E D # = 2, @t Fifeiflas 4 & =R @1 &
qA R
(1) E, A= amm 2
(2) E3RCa
(3) AR E wH Wi #
(4 B E#®fFAR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49589]

2[Option ID=49590]

3[Option ID=49591]
4[Option ID=49592]

Sl. No.74
QBID:1163074

Given below are two statements:

Statement I : The wrong number in the series 126, 98, 70, 41, 14 ..... is 41,
Statement II: The wrong number in The series 7, 28, 63, 124, 215, 342.... is 342.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement I are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(1) Statement [ is false but Statement I is true

(1) 1
(2) 2
(3) 3
(4) 4




FA D HEmH g 126, 98, 70, 41, 14....... | 7o &= 41 2
A I . Hems F e 7, 28, 63, 124, 215, 342 ¥ e H@EM 342 R
T FUH & A °, A e e § 8 wd s s am fif

(1) = 1 3w 11 2 g 8
(2)  =uA 1 30 01 2 s @
(3) =\ [ 5w E, A 0 10 s 2
(49 w1 39 §, AT w1 1899 8

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49593]
2[Option ID=49594]

3[Option ID=49595]
4[Option ID=49596]

Sl. No.75
QBID:1163075

In a certain coding system, if FLOWER is written as SEXOMF, then how will you code
GARDEN?

(1) OEEREH
(2) OEESBH
(3) OEREGE
(4) OEERBG

(1) 1
(2) 2
(3) 3
(4) 4

UF 2 #Haed # FLOWER %! SEXOMF e sien 21 &t 319 GARDEN it 3# Feag #0017

(1) OEERBH
(2) OEESBH
(:3) OEREGEB
(4) OEERBG

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49597]
2[Option ID=49598]




3[Option ID=49599]
4[Option ID=49600]

Sl. No.76
QBID:1163076

Consider the following two number series I and I1;

I:2, 10, 60, 420, 3360, P, ...........
II:2,20,Q, 110, 182, 272, ..........

Then P+ Q=
(1) 436
(2) 540
(3 336
(4) 642

1) 1

(2) 2

(3) 3

(4) 4

A & ¢ 7 wEn-grEensi-1 @ 11 W faEm i -

I:2, 10, 60, 420, 3360, P, ...........
II; 2, 20, Q. 110, 182, 272, ..........

@ P+ Q=nEmM?
(1) 436
(2) 540
(3) 336
(4) 642
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=49601]
2[Option ID=49602]
3[Option ID=49603]
4[Option ID=49604]

Sl. No.77
QBID:1163077

If “fan tag fog ink’ stands for "Khelo India Hockey Team’, ‘code for man’ stands for ‘Summer
India Games' and ‘she has code’ stands for ‘Indian Games History’. What stands for the word
‘Bummer’ in the code?

(1) Fan
(2) Code
(3) Fog
(4) Man

(1) 1




(2) 2
3) 3
(4) 4

afz ‘Khelo India Hockey Team’ %1 F2 ‘fan tag fog ink’ 2, ‘Summer India Games™ #F2 ‘code for
man’ # ‘Indian Games History’ #1 %2 ‘she has code’ 21 1 ‘Summer’ 9153 1 %2 ¥ 27

(1) Fan
(2) Code
(3) Fog
(4) Man

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=49605]
2[Option ID=49606]

3[Option ID=49607]
4[Option ID=49608]

Sl. No.78
QBID:1163078

Which of the following pairs of words express the relationship that is most similar to the pair
Square : Cube?

(1) Rectangle : Cuboid

(2) Triangle : Square

(3) Quadrilateral : Cuboid

(4) Cuboid : Rectangle

1) 1
(2) 2
3) 3
(4) 4

Frefafas we-gi 4 8 #7 o gy sfem Fm S s e 3 gm | 27

(1) =MW . a=
(2)  Frgw .

(3)  =ads - T
(4) =AM : A
(1)
(2)
(3)
(4)

A W N =

1[Option ID=49609]
2[Option ID=49610]




3[Option ID=49611]
4[Option ID=49612]

Sl. No.79
QBID:1163079

Sympathy is related to Virtue in the same way as Cruelty 15 related to
(1) Vice

(2) Kindness

(3 Emotion

(4) Animosity
(1) 1
(2) 2
(3) 3
(4) 4

Al - G 1 95V | & 9@l d-y Hogar & e 9 e 27

1)  FER
(2) SHTdl
(3) W=
(4)  fagw

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49613]
2[Option ID=49614]
3[Option ID=49615]
4[Option ID=49616]

Sl. No.80
QBID:1163080

First two words are related in a certain way in:
Grain : Stock : : Stiek : ?

Identify the suitable word in place of ? so that third and fourth words also become related in
the same manner.

(1) String

(2) Collection
(3) Bundle
(4) Heap

(1)
(2)
(3)
(4)

A W N =




frafefian oy 1 gzt 21 w2l & o= v T vm w2 -
W‘TEH :_&‘I'ET:?
? % TUH W ITgT e &1 vgEH difae @i de o St e & de i 39 @ o e @ ey

(1)  dfa
(2) wm
(3 TR
(49 =

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49617]
2[Option ID=49618]

3[Option ID=49619]
4[Option ID=49620]

Sl. No.81
QBID:1163081

A statement 18 followed by two inferences 1 and 2. Considering the statement to be true,
which of the inferences 1 and 2 logically follow?

Statement : In a T-20 cricket match, the number of runs scored by the Indian team were 212
and out of these 160 runs were scored by spinners.
Inference : 1. 10% of Indian team cosist of spinners.
2. The opening batters were spinners

(1) 1 only
(2) 2 only
(3) Both 1 and 2
(4) Neither 1 nor 2

1) 1

(2) 2

3) 3

(4) 4




H U FUA % 918 31 I e (1-2) 75U e 81 92 9ed g e T 8, sEiHa el 1 3R
2 Y F ThETd & d HY F A T 27

FYH : UF d-20 Toreke 89 ° 9dE dW g0 FA 212 W SAN T AW T F 160 T HER Tigamei ga
1T, T

AT e 1 : R W # 10% TRl TEae 21

AT F%hd 2 : TRITHE doctare fREhl Tigara 9

ELIBEE T i

(1) wad 1
(2) Fad 2
(3) 1 3 2 2=
(4) F13FHTF2
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49621]
2[Option ID=49622]
3[Option ID=49623]
4[Option ID=49624]

Sl. No.82
QBID:1163082

What is the next figure in the series of five figures?

TT 50T

(1) (a)
(2) (b)
(3) (c)
(4) (d)
(1) 1
(2) 2
(3) 3
(4) 4




A & 8 ura feei i gen § swen fa=m w0 @y

TITODLD

(a) (b) () (c) (d)

I | .
(1) (a)
(2) (b)
(3) (c)
(4) (d)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49625]
2[Option ID=49626]
3[Option ID=49627]
4[Option ID=49628]

Sl. No.83

QBID:1163083
In a housing society, 50 households subscribe to newspaper 1, 60 households subscribe to
newspaper 2 and 70 households subscribe to newspaper 3. Further 25 households subscribe to
both 1 and 2, 20 households to both 2 and 3 and 10 households to both 1 and 3. Also there are
five households which subseribe to all the three newspapers?

uF EEfEm geEd O, 50 = EEn 1 =wiEd 2, 65 o smEn 2 =@ited E, 3 70 = sman 3 'l
25 W FEER 1 AR 2, 261, @fiEa E, 20 W wmeEn 2 o 3, 3, =iEd #1 10 = srEEn 1 3w 3, 3,
witEd #1 10 = 3mEaEw 1 30 3, 261, w@fied B ome A s g # S A smEm wfim

If 20 households do not subscribe to any of the three mentioned newspapers, then what is the
total number of households in the society?

(1) 200
(2 180
(3 155
(4 135

(1) 1

(2) 2

(3) 3

(4) 4




Ifg 20 W A @1 @AW § U F1E f 3EeEn T8 @iied 81 al "EEdl § $d A wE?

(1) 200
(2) 180
(3) 155
(1) 135
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=49629]
2[Option ID=49630]
3[Option ID=49631]
4[Option ID=49632]

Sl. No.84
QBID:1163084

In a housing society, 50 households subscribe to newspaper 1, 60 households subscribe to

newspaper 2 and 70 households subscribe to newspaper 3. Further 25 households subscribe to
both 1 and 2. 20 households to both 2 and 3 and 10 households to both 1 and 3. Also there are
five households which subsecribe to all the three newspapers?

UF 3N Heedt |, S0 o svEan 1 wiEd §, 65 W mEn 2 |iEd #, 3 70 W wmen 3 wmifiEd 3
25 W AR 1 3R 2, 3, @i 8, 20 W wwEn 2 #n 3, 391, wied #1110 @ a1 v 3, 36,
witzd #1 10 W 3/@ER 1 30 3, 21, wiEd 8 e @ 5w g § S 9 seEn wiem )

What is the number of households that subseribe to only one newspaper?
(1) 90
(2) 45
(3 76
(4) ]

(1) 1
(2) 2
(3) 3
(4) 4

foRe = %ae 1 FEan @ied 27

(1) 90
2 45
3 76
(4) 60

(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=49633]
2[Option ID=49634]
3[Option ID=49635]
4[Option ID=49636]

Sl. No.85
QBID:1163085

A Director of an Hospital must constitute a committee of five persons by selecting two Doctors
from A, B and C and three Engineers from D, E, F, G and H. 1t is given that both B and H
together, both G and F together and both E and H together cannot be the members of the
committee. If C is not selected in the committee, then any of the following could be in the
committee except

(1) D
(2 H
(3 E
49 G
(1) 1
(2) 2
(3) 3
(4) 4

el araTer = fewrer =1 e = f v afbfa 99 2 e A, BiRC A a g s 3 D, E, F, G
3 H 9 ¥ 9 =i fou 9+ 81 afdeg 72 2 7 B 3t H = 919 781 & §%d, G 3 F us a1y =2
21 Uhd, K 3 H U 419 4iifd & 989 981 81 Ghd| 32 C &1 gifd § =34 721 21 2 91 i@ § 4
Toraer staman #iE Wt wfafa =1 9ee 99 g@ar 27

(1) D
(2)
(3)
(4)

[calia s

G2

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=49637]
2[Option ID=49638]

3[Option ID=49639]
4[Option ID=49640]

Sl. No.86
QBID:1163086




Which of the following statements are falze?

(0 A number is divisible by 9 if the sum of the digits is divisible by 9
(II) A number iz divizible by 9 if the product of the digits iz divisible by 9
(IIT)  There exiztz numbers which are are divisible by 9 but not divisible by 3.
(IV)  There exists numbers which are are divisible by 3 but not divisible by 9.
(1) I and I
(2) IT and II1
(3) IT and IV
(4) Only 11
1)1
(2) 2
3) 3
(4) 4
Fr=fafaa § & #9 9 F97 em 27
() o2 Fedt den & o/ w1 A9m o | e 3 A 9r W o § W= w1
(I) a2 =i = A% 0 § WG B 9 9@ HEw 9 § =g hfl)
(D) ot wed TR i S o B ww E Reg s R wsa i &)
(IV)  teft weamd e # o 3 @ v E R o @y A )
() IsmIr
(2) M sRIII
(3) IMsmIv
(4) FEAI
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=49641]
2[Option ID=49642]
3[Option ID=49643]
4[Option ID=49644]

Sl. No.87
QBID:1163087

The square root of 0.0625 15

(1)
(2)
(3)
(4)

1) 1

0.025
0.25
2.5
0.005




(2) 2
(3) 3
(4) 4

0.0625 &1 =7 g1 F1 87

(1)  0.025
(2) 0.25
(3 25

(4)  0.005
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49645]
2[Option ID=49646]
3[Option ID=49647]
4[Option ID=49648]

Sl. No.88
QBID:1163088

If the abscizsza of a point 12 (—6) and the ordinate 1s (3), in which quadrant will the point lie?

(1) First quadrant
(2) Second quadrant
(3) Third quadrant
(4) Fourth quadrant

(1) 1
(2) 2
(3) 3
(4) 4

ferelt forg =1 w9 (—6)  oir =if2 (3) 2, Form =gutw | g smafeum @

(1)  wem Sgui

(2) T =guta
(3) e =quta
(4  =qd =guin

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49649]
2[Option ID=49650]

3[Option ID=49651]
4[Option ID=49652]




Sl. No.89
QBID:1163089

In a survey among new recruits in an organization employees were asked what they are likely
to buy with their first salary — a mobile phone, a laptop, a holiday or invest for future. The
results of the survey, classified according to male and female employees, as shown in the

stacked bar chart below.
» Female
2 ! i B Male

Mabile Laptop Holiday Invest for future

200
180
160
140
120

UF WA ° T wefl gu FHEE F gaan § w8 1@ v fF o uge 90 8 e a0 gl #i
HHIEAT 2 - WEEE B, WU, Gedl W AHl A1 9T % o iy e adeE % aiors gey uE Afgen
FHAMET * ATER Fiiwa e w0 2, 5 A= 93 =i § wefifa 2

200
180
160

140
120
100 W Female
80 H Male
40 + :
0 - : .

Mahile Laptop Haliday Invest for future

8

Approximately how many people are likely to buy a mobile phone with their first salary?

(1) 120
(2) 60
(3) 100

(4) 180




(1) 1

(2) 2

(3) 3

(4) 4

HH TEe daq | e frad safFet & e wn wied i gy 27
(1) 120

2 60

(3 100

(4 180

(1)
(2)
(3)
(4)

A W N =

1[Option ID=49653]
2[Option ID=49654]
3[Option ID=49655]
4[Option ID=49656]

Sl. No.90
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In a survey among new recruits in an organization employees were asked what they are likely
to buy with their first salary — a mobile phone, a laptop, a holiday or invest for future. The
results of the survey, classified according to male and female employees, as shown in the

stacked bar chart below.
» Female
B Male

Mabile Laptop Holiday Invest for future

200

180
160
140
120

TS WA #  Wefl gu FHAE F waaw § A @ 991 T fF 0 uge 90d § 3 # giigd #if
HHEAT 2 - AEgE BH, W92, Geal W FH A1 9T % o fEw wEn wden #1 afors g uE afgen
FHAE! * IFFAR A iFa 61 70 2, |1 A< 53 9 J Wghia g

200
180
160 4+—— :
140
120
100 = Female
20 m Male
60

| .

0 - : .

Mabile Laptop Haliday Invest for future

The total number of female emplovees who participated in the survey is approximately

(1) 450
(2) 200
(3) 100
(4) 400

(1) 1




(2) 2
(3) 3
(4) 4

w5 | wrligrl #6 arell wigen Fd=ial 6 @ wen o a2

(1) 350
(2) 200
(3 100
(4 400

(1)
(2)
(3)
(4)

A W N =

1[Option ID=49657]
2[Option ID=49658]
3[Option ID=49659]
4[Option ID=49660]

Sl. No.91
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In a survey among new recruits in an organization employees were asked what they are likely
to buy with their first salary — a mobile phone, a laptop, a holiday or invest for future. The
results of the survey, classified according to male and female employees, as shown in the

stacked bar chart below.
» Female
B Male

Mabile Laptop Holiday Invest for future

200

180
160
140
120

TS WA #  Wefl gu FHAE F waaw § A @ 991 T fF 0 uge 90d § 3 # giigd #if
HHEAT 2 - AEgE BH, W92, Geal W FH A1 9T % o fEw wEn wden #1 afors g uE afgen
FHAE! * IFFAR A iFa 61 70 2, |1 A< 53 9 J Wghia g

200
180
160 4+—— :
140
120
100 = Female
20 m Male
60

| .

0 - : .

Mabile Laptop Haliday Invest for future

Approximately how many more female employees than male employees are likely to go on a
holiday with their first salary?

(1) 110
(2) 40
(3) 180

(4) 20




(1) 1
(2) 2
3) 3
(4) 4

s FAEE Fi g § wrwn e afeen FEiE F s vem 39 f gedl woaE 6 e 27

(1) 110
(2) 40
(3 180
(49 20
(1)
(2)
3)
(4)

A W N =

1[Option ID=49661]
2[Option ID=49662]
3[Option ID=49663]
4[Option ID=49664]

Sl. No.92
QBID:1163092




The following line diagram gives the exchange rate of the pound (GBP) against the
Indian rupee (INR) for three consecutive weeks (for example on Monday of the first week
1 pound = Rupees 97.12). Answer the following questions based on this diagram.

GBP Rate

29 -
098.5

a8
97.5

a7y a7 .06

95.5

5 - - - - d - - -
n S & A8 &
& «*ﬁéﬁ & & d"@ & ﬁ“f «v’f’ﬁ & «“éiéﬁ & &

9

fFrfefian tan-smm # uEz G @ 9y B e e ond o osm) fi g | AR wlE wE F oo
fafmg = w=ftm 1 m 2 (EEw % fou yum AUR ¥ AHmER A1 TEE = 07,12 ) W e W
STHE T % I A

GBP Rate

1.7

97.5 “9{,?‘_{
7.3
oy | 9712 ' Bl \ / \ o706
Vos 2
%5 5639

o6

95.5 1

95

PSS ESISL SIS

On which day of the week out of all three weeks is the average daily rate of the pound the
lowest?

(1) Monday

(2) Tuesday
(3) Wednesday
(4) Thursday

(1) 1
(2) 2




(3) 3
(4) 4

i1 =T | @ | % e fm v i ositea 2 = A 20
(1) HmEER
(2) HIEEN
(3) TR

(4)  Feeafoan

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=49665]
2[Option ID=49666]

3[Option ID=49667]
4[Option ID=49668]

Sl. No.93
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The following line diagram gives the exchange rate of the pound (GBP) against the
Indian rupee (INR) for three consecutive weeks (for example on Monday of the first week
1 pound = Rupees 97.12). Answer the following questions based on this diagram.

GBP Rate

29 -
098.5

a8
97.5

a7y a7 .06

95.5

5 - - - - d - - -
n S & A8 &
& «*ﬁéﬁ & & d"@ & ﬁ“f «v’f’ﬁ & «“éiéﬁ & &

9

fFrfefian tan-smm # uEz G @ 9y B e e ond o osm) fi g | AR wlE wE F oo
fafmg = w=ftm 1 m 2 (EEw % fou yum AUR ¥ AHmER A1 TEE = 07,12 ) W e W
STHE T % I A

GBP Rate

i e A 9851

o97.7
7.5

e

7.3

oy | 9712 ' Bl \ / \ o706
Vos.m

i 5639

o6

95.5 1

95

PSS ESISL SIS

What is the percentage increase in the rate of the pound on Friday of the week 2 as compared
to Tuesday of week 17

(1) 3.2%

(2)  3.25%

(3  2.3%

4  2.6%
(1) 1

(2) 2




(3) 3
(4) 4

THTE 1 % WIEaR il g1 4 9H1E 2 % IR F ISS i o § uiowa Jig e 27

(1) 3.2%
(2) 3.25%
(3) 2.3%
(4) 2.6%

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=49669]
2[Option ID=49670]

3[Option ID=49671]
4[Option ID=49672]

Sl. No.94
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The following line diagram gives the exchange rate of the pound (GBP) against the
Indian rupee (INR) for three consecutive weeks (for example on Monday of the first week
1 pound = Rupees 97.12). Answer the following questions based on this diagram.

GBP Rate

29 -
098.5

a8
97.5

a7y a7 .06

95.5

5 - - - - d - - -
n S & A8 &
& «*ﬁéﬁ & & d"@ & ﬁ“f «v’f’ﬁ & «“éiéﬁ & &

9

fFrfefian ten-sma # @z G @ 9 R e e ond o osm) fi g | AR sl aeE F oo
fAfmm s iR A2 Eew s ooy U S OmER =1 1 TEE = 97,12 F) T e W
STHE T % I A

GBP Rate

G L A 9851

97.7

97.5 “9{,?‘_{
7.3
oy | 9712 ' Bl \ / \ o706
Vos 2
%5 5639

o6

95.5 1

95

PSS ESISL SIS

Suppose the value corresponding to the Wednesday of week 3 15 incorrect. The correct value
gives the average of week 3 as 97.066. What is the correct value of Wednesday, week 37

(1)  96.15

(2 97.15

(3  97.40

(4)  96.90
(1) 1

(2) 2




(3) 3
(4) 4
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(1) 96.15
(2) 97.15
(3) 97.40

(4) 96.90

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=49673]
2[Option ID=49674]

3[Option ID=49675]
4[Option ID=49676]

Sl. No.95
QBID:1163095

The greatest number of 5 digits which is divisible by 15, 50, 60 and 75.

(1) 90,000
(2) 99,900
(3 99,300
(4) 99,600

(1)
(2)
(3)
(4)

15, 50, 60 3 75 21 9=9 5 3 4 g9 F€ TEm 27

A W N =

(1) 90,000
(2) 99,900
(3) 89,300
i(4) 899,600

(1)
(2)
(3)
(4)

A W N =

1[Option ID=49677]
2[Option ID=49678]
3[Option ID=49679]
4[Option ID=49680]

Sl. No.96




QBID:1163096

A square is plotted on a number graph with its vertices as (-2, 1), (1, 1), (1, —-2) and (-2, —2).
In which quadrant will its diagonals meet?

(1) First

(2) Second
(3) Third
(4) Fourth
1)1

(2) 2

(3) 3

(4) 4

fereft =i =1 o s W At foen s 2, frese ddam (-2, 1), (1 1), (1, -2) 3R (-2, -2) & @ 7%
ool fory mrqarter et

(1) 94H
@ T
(3 T
(4 =4
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=49681]
2[Option ID=49682]

3[Option ID=49683]
4[Option ID=49684]

Sl. No.97
QBID:1163097

Which of the following 1s/are an irrational number/numbers?

(1) 0.3333

i) 121
i) 2

(1v) 0.625

(1) (1) and (iv)
(2) (i1) and (i11)
(3) {111}
@
(1)
(2)
(3)
(4)

A W N =




Frferfias o & =9 =t sofor wen 27

(1) 0.3333
(11} 4121

(i) 2

(1v) 0.625

(1) () 3 (Giv)
(2) (i) 3 (iii)
(3 (i)
(4) (1)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=49685]

2[Option ID=49686]

3[Option ID=49687]
4[Option ID=49688]

Sl. No.98
QBID:1163098

A batch of students at a college are planning a winter vacation trip. Three options have been
proposed as destinations — Shimla, Goa and Jaisalmer. While some students are fixated with
only one choice, some are okay with more than one choice and some don't mind going to either
of the three destinations. It was found that 40 students are ready for both Goa and Shimla, 10
students are ready to go to any of the three destinationsz, and 30 students are ready for both
Shimla and Jaisalmer. If 25 students want to go to Shimla only, total how many students are
willing to go to Shimla?

(1 95
@ 75
(3 85
(49 70
(1) 1
(2) 2
(3) 3

(4) 4
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(1) 95
(2) 75
(3) ta13]
(4) 70

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=49689]
2[Option ID=49690]

3[Option ID=49691]
4[Option ID=49692]

Sl. No.99
QBID:1163099

Consider a five-digit number 3467X, where X represents the unit digit. For how many
possible values of X will the number 3467X be divisible by 9?

wa

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

5-37RE HEn 3467X W fFan fifav, fami X s 55 71 wfaffie = 210 X F e aeaEt 9@ 2m,
far fom | 3467X, 9 | wr=w Brfi 7

=D = I3

(1) 3
2 2
& 1
(4) 0
(1)
(2)
(3)
(4)

A W N =

1[Option ID=49693]




2[Option ID=49694]
3[Option ID=49695]
4[Option ID=49696]

Sl. No.100
QBID:1163100

What is the sum of squares of first 15 natural numbers?

(1) 14400
(2) 1240
(3) 120
(4) 3720
(1) 1

(2) 2

(3) 3

(4) 4

Teq 15 e S & il & A d e

(1) 14400
(2) 1240
(3) 120
(4) 3720

(1)
(2)
(3)
(4)

A W N =

1[Option ID=49697]
2[Option ID=49698]
3[Option ID=49699]
4[Option ID=49700]




